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Time Walk Functions
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Wider Range
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Event Display: Electron T
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Event Display: Pion

display 20190710r reco_pion_n40GeV.root
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Event Display: Muon
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Double Event
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N occupancy event
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Electron: high occupancy event iime
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Electrons: hitTime vs Gain/BeanCrossing
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Muons: hitTime vs Gain/BeamCrossing
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Electrons: hitTime vs Gain/BeamCrossing
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.. Hit Time vs Hit Energy
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.. same for Muons
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Muons: Time Walk Correction + Resolution

60382_testNewConstants.root

‘-- - | zumasia

T I‘I"ll“ilIll“liiiiiii}n; 1Tl

o lfw]h L || sopan

.-:'...-‘- _..-

1 LEETT

I AT Iasld

w
m|I|Iﬂllllllllimiﬁilﬁi!fiize-

’_

oomiad-uhe hiERegy (e nHissdl

‘. = ‘-
= . = Tt - -
E E o Undartoar a E
E o = = Cwmiiow oued (1= =
F E = b THER E -
E =E = i 5o e b
F o - - b = H
= E = || " ol e s
= = E g wwmﬂ_h |‘|" = =
— e — +‘I' h E =
E E C Lol =
2 -E 3 -E -
= "=E =5 = =
= [ = (i 5
mha | L gy [ _hEEragy juhe_n :_hFEr gy jahe_r
= - = x e = = T Y
= E - | A8iTestd = M . | iBdbebd
- E 2 E H - 1
E = B | LT =
- = = ’l. . A0 ANE e T ER -
= = PRt E e
: % | E :iiiﬁ;sii = B Eills s
= = = b
= = . l\. [ b Il - L H
- 1 e = =it = I:. et s
B E = . .
= — == == - Ui .
- = - L]
= =N ! | ] ] ] E. e -+ il | il Ly il l il i} = Lo Ly il PR
P Eravge jubhc_r
= - = F ma
L] - - o Ll =
3 = - = E
[ =] ~ = = ma -
- 3 ~-E } —E
= E b = 1t -
=2 E e = =
o E e E s -
' =5 .E - . E
= = n
mha | < e vy [ s
= = =
Undsrlicosr a E Undertoar a
Pl ng = = e i =
e SHES/ER H -] THETIED
Basd a5 =H - w BT AT -
01883 ¢ A0GT = AR L
LS QRNH o ARE W

'~ n“:-g

o Py i :_hEEravgs jahe_T
Coidm
Undarionr a -
o w a
Intagrul £R5E £ WM
i w3 SEE ]l-} ‘ QBT LE3 e .L’“I"ﬂﬁ’ﬂ
- E ++ I, prer

I"l””l""l'"Il""|""|”“|""|IH_

RN EEEEE
ELELELLES I O I

-8 s mndpgzpyll




Electrons: Time Walk Correction + Resolution
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Electrons: Global Correction + Resolution
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Electrons: hitTime vs Gain/BeamCrossing
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ahc hitTime

idem, vs hit Energy
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Time Walk: low/high gain
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Muons: Low vs High Gain
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Muon Data: hit time vs position
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2d distributions
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Electrons: hit time vs position
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Pions: hit time vs position
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Hit time response Is: S UMM ary

e Vvery strongly dependent on hit energy (due to time walk / threshold), but
similar for all types of particles, modules, chips, channels.

e somewhat dependent on cell number within channel at readout, especially for
busy events such as electron showers

e almost independent on occupancy/hit density within a single channel ?

e very dependent on beam crossing (odd or even), especially for electrons,
which leads to low time resolution.

Correlations with other event info were investigated, no clear pattern emerges.
Electronics effect? Time walk corrections improve resolution.

Study of events show limited usabllity of current time information/resolution.
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